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Calculation Policy
Addition
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Vocabulary: first, then, now, add, plus, altogether, total, part, Manipulatives & scaffolds: Fingers
whole Five frames
Ten frames
Double sided counters
Numicon
Cubes
Bead strings
Part-whole model
Small step: Concrete: Pictorial: Abstract:
Combining Children begin to combine 2 groups of How many ___ can you see?
two groups objects to find how many there are How many ___ can you see?
altogether How many can you see
altogether?
1 more 090000 There are 7 (starfish). | Thereare ____
® 1 more than 7 is 8. There are ___ altogether.
There are 7 altogether. 8 is 1 more thn 7. 1_ is 1tr:ore tha'n .
1 more than 6is 7. morethan ___15___
7 is 1 more than 6.
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The whole is 10.

6 is a part and4 is a part.

6 and 4 are a bond to 10.

If 6 is a part then the other part must be 4.

The whole is 10

If 6 is a part then the other part must be 4.

6 and 4 are a bond to 10.

Combine two There are ___here and __ there.
groups There are ___ altogether.
and make

There are 3 here and 4 there. There are 4 dots and 2 dots.

There are 7 altogether. There are 6 altogether.

3 and 4 make 7. 4 and 2 make 6.
Bondsto 10 (2 | @O OO OO The wholeis ___
parts) O0000 OO ___isapartand __isapart

___and __areabondto 10
If ___is a part, then the other
part must be

Bonds to 10 (3

| can see that 10 is made up of

the answer to the question “How many
now?” by providing meaningful contexts

i

ﬁ@»ﬁ

First there were 2 people on the bus
Then 2 more people got on the bus.
Now there are 4 people on the bus

..OOse7a9|o

parts) O . . O . and and
Use 3 Numicon pieces to cover a 10 piece. . O
The whole is 10. | can see that 10 is made up
of 6and 3 and 1. There are 10 counters, the whole is 10.
| can see that 10 is made up of 5 and 4 and 1.
Adding more Use “first, then, now’ number stories to find

First there were ____
Then __ more were added.
Now thereare

There are ___ altogether
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Small step:

Concrete:

Pictorial:

First there were 5 people.
Then there were 3 more.
Now there are 8.
How many did | Provide children with ‘first, then, now’ First there were
| add? number stories where the ‘then’ part is -
missing: Now thereare ____
“There were 6 children on the bus, then we were added
don’t know how many more got on, but now o
there are 8 children on the bus. ladded __
0000
Oeee |
Represent the starting number with yellow
counters and then add red counters until
they reach the total amount. The number of
red counters represents the number that has
been added.
Y1
Vocabulary: add, plus, altogether, total, part, whole, 2-digit Manipulatives & scaffolds: Ten frames
number, sum, addition, more, and, makes, Double sided counters
double Numicon
Cubes
Bead strings
Part-whole model
Bar model

Abstract:
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Understand Here are some frogs.

__isapart __isapart
Can you see two groups of frogs? . .
part and V\./hole How many frogs are in each group? . — ISa pal’t. . _ IS a part
relationships Complete the sentences. ool L) e The wholeis __ The whole

e
_____isapart. » 2 —

() is
is o part.
The whole is

Write number ' 2+3=5
sentences 8

Here are some counters. Group the counters
by colour.

__red counters plus __yellow counters is
equal to __ counters.

addition facts 1+5=6

First there were 3 children on the bus. + =7 7= + 6 = 5 + 1
Then 2 more children got on the bus.

Fact families — &EEWI ‘ [GEE-]EWI 5+1=6
Sl (1 T (s)

4+2=6

e
Number

bonds within 4+1=5

S e s ole
3+2=5
o0

416-10 o0

Now there are 5 children on the bus.
+ =7 7= + a ° 6 = 1 + 5
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Add together
@ @ o o
Add more 4+3=
——t—ttt—t——+
,YF\ 01234@678910
11213145 |6|(@]|8]|9]1w0
Put 2 counters in a tens frame. Now add 8 more | | | |O| |OI | 1 | 5+ —
counters.
How many counters are there altogether?
Add by
counting on B
. . How many marbles does Ann have now? [T T T T A O T O A A A O O O O B R R |
within 20 - e LS R e o
9+6=
B
- Now
First there were 5 counters
Then | added 3
Now there are 8 counters
Adding ones
using number —_—
bonds Ll k2 l 12+4=
14+2=
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Find and @ ¢ i[—.' 16 +4 =20

eeeee 4+16=20
make number 00000 20=__+__
bonds to 20 ﬂ e000e 20=__+__
| @/ClCI0Io
Doubles < | Double7i is__ m mm Double 4is Double __is

i

Near doubles Ll L Ll - Use doubles to work out the near

i) ,%L‘ doubles:
BEEEEEEEEEEE 4+5-=
6+7=double plus 6+7 =
8+7=
6+7=
6+6+1=
Double6+1=
Y2
Vocabu|ary: add, plus, altogether, total, part, whole, 2-digit Manipulatives & scaffolds: Ten frames
number, sum, addition, more, and, makes, Double sided counters
double, ones, tens, partition, bonds, Numicon
commutative Cubes

Base 10/Dienes
Part-whole model
Bar model
Number line
Place value charts
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24+1=25

Small step: Concrete: Pictorial: Abstract:
Bonds to 10 5+ =10 __+__ =10
® | | |
10=_ +__
Fact families — o+ =
addition 7 o+ =
bonds within | /@b ® @& ® @ = 4
20 - 9[ _=_t__
Bonds to 100 __+__ =100
(tens) Hl +1Il = '““ll 100=__ +
3+4=7
40 + 60 = 100 0+40=70
Add ones AT r ‘ 46+1=
\ 46 +2 =
46 +3 =
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making 10 WO S
, 5 @ 7 8 9 10 11 12 13 14 15 If I have seven, how many more
do I need to make ten?
J 6+5=10+1
=11 How many more do | need to
?
6+5=10+1 add:
=11
Add three 1- R —
digit numbers ’ ® }QPHOO Q0000 .. .6:c |7+5+3-=
BY X ) eo® AOO00O -
+5+5=15
7+2+3=
Add to the
next 10 45+ =50
-3 81+ =90
q 32+ =40
=
The Base 10 shows 34
How many tens are there in 34?
What is the multiple of 10 after 34?
How many ones are there in 34?
How many more ones do | need to add to get to
the next multiple of 10?
34+ =__
Add across a +4 4]
26 + =31
ten Ly L ° 67 +5=

| T T T T T
27 28 29 30 31 32

L
33 34 35
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38+5=40+3

26+37 =
20+30=50

20+30=50

10 more 25+10=35
10+25=35
356=25+10

25+10=35 35=10+25

Add 10s . .

BT -
54 + 40
57 +30 = 87 24+40=64

Add two 2- 45 + 34 =

digit numbers . 52 + 14

(not across a T O ) 23+31

ten) L :

Add two 2- 26 + 37

digit numbers 46+ 27 =

(across a ten) 17 +33=
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6+7=13 6+7=13
50+13=63 50+13=63
Y3
Vocabulary: add, plus, altogether, total, part, whole, 2-digit Manipulatives & scaffolds: Ten frames
number, sum, addition, more, and, makes, Double sided counters
double, ones, tens, partition, bonds, exchange, Numicon
regroup, hundreds Cubes
Base 10/Dienes
Part-whole model
Bar model
Number line
Place value charts
Place value counters
Small step: Concrete: ] Pictorial: Abstract:
Apply number = W 8 _ +2=8 2+ =5
bonds 2] _+20=80 20+ =50
{ 80
i [ 20
2+3=5 20+30=50
Add ones Hundreds Tens 354+4
® @ 215+3
Pl
)
243 +5 =
Add tens Hundreds Tens 546 + 30
e 743 + 50
243 + 20 = 226 +30 =
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Add hundreds et Tom 378 + 400
0 579 + 300
. 285 + 600
L)
243 + 200 =
,:il:nls across s ETEEHSE s s 248 +9
24349 = —————1
243+7=250+2= S0 250 22t
252 248 + 6 =
248+2=250+4=
254
Add 10s 60+ 50 = o0 e 695 + 80
across a 60+40=100 @ 476 + 60
hundred 1 10=11 ——tt
00 * 0 O 350 400 430 e e
350+80=
350 +50=400+30=430
Add two [ Tens [Gnes T ST
o ae T O
numbers (no o e 1 ono m HTo
exchange) + % :I 2 3 nn “‘l‘{. 52 4
..,‘ <20 + 3 7 3
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Add two Tens Ones
numbers T 38 HToO
(across a ten) 2Tols I I | l"': + 23 AN
+ _— +[1/5 3
K/ 1
Add tWO Hundreds Tens Ones
numbers .. "I" veeee 265 H T O
(across a e I + 164 36 7
hundred) BRR B [l"m 429 +2/91
1
Ad: 2-:.|g.|t ;_% aro T I 3 5 31 537 +82 =
and 3-digit = ol S o . s
numbers M gt
== S 3 6
e I -
1
Y4
Vocabulary: add, plus, altogether, total, part, whole, 2-digit Manipulatives & scaffolds: Ten frames
number, sum, addition, more, and, makes, Double sided counters
double, ones, tens, partition, bonds, exchange, Numicon
regroup, hundreds, thousands Cubes

Base 10/Dienes
Part-whole model
Bar model

Number line

Place value charts
Place value counters
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Small step: Concrete: Pictorial: Abstract:
Add up to two J@ @”@ OTOE ' T
4-digit © 00|00 mih/Tlo ThiH|T|O
_ O 00 . 3142
numbers —no ©©/00|00|00 = v 537
exchange + ©0|0
©
Add two 4- Th | H | T
i €0 (00|00(00 4137 8
digit numbers o 0 |0000 walTlo NEIPIEIE
—one O |00 3356 .
exchange cooo/00/00 +/2.4 .35 719 7
8 +|  |oolo 0o 5751 1
4 o :
@]
Add two 4-
digit numbers i ThH T oO i T1h : : f-,’
— more than BOEILEE ‘ 1257
one exchange e 212012
Y5
Vocabulary: add, plus, altogether, total, part, whole, 2-digit Manipulatives & scaffolds: Ten frames
number, sum, addition, more, and, makes, Double sided counters
double, ones, tens, partition, bonds, exchange, Numicon
regroup, hundreds, thousands, decimals, tenths, Cubes
hundredths, thousandths, decimal point Base 10/Dienes
Part-whole model
Bar model
Number line
Place value charts
Place value counters
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Small step: Concrete: Abstract:
Add whole i lolalsla2ls
numberS With ﬁ'_'..‘_".* ;:z:z:; 1joj4afs]a]e 26509 + 6 1 7 3 1
more than ORI + 44643 166 050
four digits 1
Add decimals .5
across one a)o)@) 0.74 +0.42
OO 074031 =1+012=112
e 'l + 0:2 =12
OOOOQ 07+05=12
Add decimals [ Ones '} Tenths [Hundredths e s S 2.62
th th 00 |0000(®0 218 3 *o o09i0e .
Wi e same 0000 ® + a4 @ @ @ + 2.
number of 00 Q0 ® o0 |ooe|e 5.6/5
. 00 00 -
decimal @ + 2 4 9
places
B 6 .. 1.4
1 1
Add decimals | [T@80¥ Tt [ Hih 6.2
different — :
00|00 09 + 191k +0 - 0]
number of 0 (00 W;LG
decimal o Y
places
Y6
Vocabulary: add, plus, altogether, total, part, whole, 2-digit Manipulatives & scaffolds: Ten frames
number, sum, addition, more, and, makes, Double sided counters
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double, ones, tens, partition, bonds, exchange, Numicon

regroup, hundreds, thousands, decimals, tenths, Cubes

hundredths, thousandths, decimal point, integer Base 10/Dienes
Part-whole model
Bar model
Number line

Place value charts
Place value counters

Small step: Concrete: Pictorial: Abstract:
Add integers HTh

T 260867
SOSO00 ) 1000 1 3 1 R A B | |
T 888 il +163747 543523
-a ) [SACUAREEAEY + 202731 4
7.7.0 8 3 7
1
Add decimals T Ol e [Fe ]| _ = — Qe ot e
o0 00 00 4,216 0 S5 0¥
e 00 +_3:02 L =il 213 (3lel]
[ 1] 2 516 2 el ﬁt Insert zeros for 9-080
=. o0 o Y < place holders. +Sq| - 338
o w I
IPERECRE SR EREAR T

1.73 +21.69 =




